DD UIYRI0T YR ORI 1°217°y naon MIA AT TINHH My BT

3.1.8

10a (vyp> ywvpo 2n9m) 2 11b (79237)

note: there is a special dispensation of 118122 209, detailed in the 2" chapter; water wells on the road may be surrounded by
poles (0702) at particular intervals and the enclosed area is considered 510503 i — this, to allow people to drink while on
the road. The maximum gap between poles allowed is reflected in 71717 *7's opinion — 1313 MAN.

I. Analysis of 2nd clause of mwn: wider than 10 mnx
a.Question: how wide does nm "1 allow?
i. Suggestion: mr "7 (before qov "1) — 13.3 My, inferred via vy from mx11 '0a
1.If: mrY2a *09, where we allow 1m0 Y N2y Y179, may not be more than 13.3 mny
2.Then: certainly »an, where we do not allow Tmn 5» n21I0 119, may not be more than 13.3 mnr
a) Challenge: perhaps the reasoning is different — we only allow 13.3 in 1”0 because we allow 11
i. But: in case of n1an, where we do not allow na1In Y19, we may allow a wider opening than 13.3
b) Or: we may argue the opposite: since we don’t allow n2vn y1ia for nan, we may not allow even 13.3
II. Solution for wide entrance
a.”15 (perhaps quoted by 5Kmw): quotes Xn>1a which, in case of 20-wide, suggests putting stick in middle
i. But: "% himself maintains that we do not accept this Xn»12 — (air on each side nullifies stick)
ii. Rather (75 w2 581®): make a board v™ high x 8”1 and stand it up in the middle (-2 small entrances)
1.0r: solution of nmn a1 (if 15 wide) — set up board 3 mnr wide at point 2 mnk away from edge
2.Question: why not suggest 1.5+2 mnR space+1.5 board (to cover up to point of 10 mnr)?
a) Inference: N 27 must hold that Tmy must be greater than 112 in one spot (not amalgamation)
b)  Rejection: perhaps nain 1y works even with joining - but here, the air on both sides is Y0an
3.Question: why not use alternating mnx of wood and space (1/1/1/1/1) until reaching 10 mnx point?
a) Inference: N1 11 holds that Y1193 10y is not considered sufficient (must be more than y119)
b)  Rejection: in this case, empty space on both sides cancels out Ty
4.Question: why not use 1 space, then 1.5+1 (space)+1.5
a)  Answer: indeed — 1311 didn’t trouble him to make such an inticrate solution
b)  Challenge: why aren’t we concerned that people may use smaller entrance, negating nna?
c)  Answer: people don’t avoid normal-sized entrance in favor of a small one (e.g. 2 mny)
i. Challenge: "oR "1 'nR "1 (above) breach of v invalidates »an if standing wall is less than v
1.Answer: in that case, people will use smaller entrance to save steps; doesn’t apply here
5.Tangent: re: Tmy3 Y119 in case of toilet seat (for YnR — T:8 n”a @Y ®RNALIN) — conflicting reports Pa1/177 "7
a) p7’7 2 fingers of material on each side, 2 fingers of space in middle
b) 7227 1.5 myaxr on each side, 1 yaxR of space in middle
i. »p»7 "2 we don’t disagree, just are representing a large one or a small one
1. 7an: there is a disagreement, else 1727 would’ve described 1.3 on each side and 1.3 space
2.77 *1. if we disagreed, I would have used 1.6 on each side
a.Perhaps: they disagree about 1my3 119
III. Analysis of 3" clause in mwn — if there is 9”MY, no need to narrow opening
a. Given: 9"mx helps if too wide and ®InonR helps if too high
b. Question: does 9”mx help if too high; does XIn>nx help with excess width at opening?
i. an73x lists both (if too high or too wide) and then indicates if there is 8”mx or XINYnR — no need
ii. Assumption: both are “fixes” for both problems
1.Correction: XInYnR only a “fix” for height
2.27 corrected N’ 271 and taught that 8”mx doesn’t even help with excess width (if more than 10)
a)  9op a7 from 11 - if a 9¥n has more windows/spaces than wall, 8”mx% won’t make it usable
i. Inference (via analogy): from nan, where 10-width prohibits and 2”mx doesn’t fix that
1.Challenge: according to n”, we don’t allow a breach greater than 10 in m»11 »oa
a. Yet: we certainly allow Tmwn 9» n21n p119 in the case of noa
b. Therefore: the analogy is faulty and perhaps 9”mx would work in 1¥n with naymn p1a
3.Support (for 27): walls that are made up of windows and openings are valid as long as pyan % narn 1Ty
a)  Assumption: they have 9”mx; nonetheless, must be p11an Yy nayn Tmy
b)  Rejection: they have no 8”mx — they are '8n»w (no doorposts/roofbeam)
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4.observation: 13nv "1 also rejects use of 8”mx as “fixing” NN PO
a)  source: story of “grape-vine” a”mx
i. details: man took four poles on four sides of his field and strung a vine across them
ii. 572w works as “fence” for n’RY3 (may plant other seeds there) and for naw
iii. g 77 valid for DR93 — not for Naw (TMYN HY NN PI9)
1.Cannot be: 9”mx on the side (looped on the side of the poles)
a.Reason: n™ ruled that a 9”"mx on the side is invalid for naw
2.Must be: that it was looped on top
a.Cannot be: that the opening was 10 (or less) — 131 "y would certainly permit
3.Rather: it was more than 10 and j3nv '7 rejects use of 9”m¥ to fix opening wider than 10
4.Rejection: it was looped on the side and 1311 1 and Y”aw1 disagree about X7on "1’s ruling
iv. Yet: we find a contradiction within 130y *’s words and within "av7’s rulings
1. 5727 (in name of his teacher): a Nk’ (woven vines) is a n¥'nn for o'R%3, not for naw
2. 21712 71 invalid nxmn for either
a. Note: 9"aw1 is not a contradiction; here he is represnenting his teacher’s opinion
b. and: we can resolve j1ny "1 — disallowed when greater than 10 and both are side-looped

i. note: source for distinction between 10/>10; story with ywin»
IV. Three rules of nnan nmx

a. n”r. may not be looped over side (as above)
b. Must be: fit for a door (even a light one)
c. Must have: hinge slot
d. Dispute: nww "1/23"1 whether cross bars have to touch top beam
i. 171 no need — and he ruled this way practically in kmbx w»1 »a
ii. " must touch — had 1™’s 8”mx dismantled (and got in trouble with Xm%) w1 »1 as a result)
1.Related ruling: an archway with a 10-high base is nrina a»n
a) »an: they agree if there isn’t 10 high or 3 at base, no nrin avn
b)  Disagreement: if base is 3 and archway is 10 high but opening isn’t 4 wide
i. But: there is enough room in structure to theoretically carve out 4 wide
1.077 DWHNY PppIn 227N
2. 7P ©OYWNY PRPIN PR DNV
3.Note: w"1 wanted this Xn»a kept “silent” as it supports 1”1 (use of theoretical space)
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